[ > restart
| EDO(2)L.cc.H: CASO I
> Ecuacion := diff (y(x), x$2) — 5-diff (y(x), x) +6-y(x) =0
2

o 47 (4 _
Ecuacion := 2 y(x) —5 ( dx y(x)) +6y(x)=0

> EcuacionCaracteristica:=m--2 —5m+6=0
EcuacionCaracteristica:=m’> —5m +6 =0

> Raiz := solve(EcuacionCaracteristica)
Raiz:=3, 2

> Solucion, := y(x) =exp(Raiz;-x); Solucion, = y(x) = exp(Raiz, x)

Solucion, :=y(x) = 3

Solucion, := y(x) = g%
;> with(linalg) :
> WW:= wronskian( [rhs(Squcionl), rhs(Squcionz) ] x)
3X e2x
WW :=
3 e3x 2 e2x

> comprobacion, := det(WW) + 0;

comprobacion, := -°*&”* = 0

> SolucionGeneral := y(x) = C1-rhs(Solucion, ) + C2-rhs(Solucion,)

| SolucionGeneral := y(x) =C1 e** + C2 ¢**
> comprobacion, := subs(y(x) =rhs(SolucionGeneral), Ecuacion)

OX

0
comprobacion, := % (cr1e¥*+c2e?*) —5 (— (c1e¥*+c2 ezx)) +6C1e3*

| +6C267=0
[ > comprobacion, := eval(%)
comprobacion, :=0 =0
=> SolGral := dsolve(Ecuacion)
i SolGral :=y(x) =_Cle**+ C2e*
[ > SolucionGeneral,
y(x) =Cle** + C2 ¢**

=> Sistema := diff (SolucionGeneral, x), diff (SolucionGeneral, x$2) : Sistema,; Sistema,,

d
dx y
d2 3X 2 X
Qy(x):Qme +4C2e

=> Parametro := solve( {Sistema}, {C1, C2})

(x) =3C1e3*+2C2e**
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2 2
&y(x)—Z(%ymj 5y =3 (£ y0)

1 1 dx

Parametro:= |[Cl=— ,C2=-= (13)
i 3 eSx 2 e2x
> Ecuacionintermedia := subs(C1 =rhs( Parametro, ), C2 = rhs(Parametro,),
SolucionGeneraI)
| SN S o 5 d
EcuacionIntermedia:=y(x) = 6 4 y(X) + 6 dx y(X) (14)
B EcuacionOriginal := lhs(Ecuacionintermedia) -6 — rhs(EcuacionIntermedia) -6 =0
2
EcuacionOriginal := d—2 y(x) =5 (i y(x)) +6y(x)=0 (15)
i dx dx
> Ecuacion
& (x)—5(i (x))+6 (x) =0 (16)
0l y dx y y
[ > restart
| TEOREMA DE EULER
> exp(Pi-l) +1=0
i 0=0 17)
| > restart
| CASO 111
> Ecuacion := diff (y(x), x$2) — 2-diff (y(x),x) +2y(x) =0
one 4 L o (4 _
Ecuacion := 2 y(Xx) —2 ( i y(x)j +2y(x)=0 (18)
[ > Solucion := dsolve(Ecuacion)
i Solucion:=y(x) =_C1€*sin(x) +_C2 e*cos(x) (19)
> EcCarac:=m--2—2m+2=0;
i EcCarac:=m’—2m+2=0 (20)
> Raiz := solve(EcCarac)
Raiz:=1+1,1—1 (21)




